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1l the question no (51
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940 = 1x 540
= 2%230
= 2 X130
=44 X 135
=8 X408
Thenefore | o0
' = SX(.'O
Hhe prume fmotoruzati on of )
= 10 % 54
540 s - 228°. 5 | = 11%x4%
= 5% 3§
50 Mo —hrhu! namber_ of - 18X 30
fuetons ? 540 s @H) (3+1) - 20x2%

The footons of 546 one,

1,2,%4,9,6,9,10,12,15,1%,20, 23,%0,36, 45, 54,
L0, Sl 125, 130, 170, 540
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4
0 72 %120 = 2%x2XC0 = zxzxzxzocuzxzxzx 15 =5+ 2%X5

3
15 = 2%3” X5
£40 = K230 =2x2X13% = 2X2X 3% 45 = 2x2X 33X 15

%
oM (2405590) = 20375 = 2260

HeE or D (240, 540) = 9.% 5 =730
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49 = 2%20 = 2X3xF

2.\,
(5 - ax2a = 3XBXF =2 Xt

2
440 = 2x70 - 2x2X35 =2 x5 X7

_2yalx 5xF = 126D
Lem (42,63 140) = T X3

yeF (42, 63 140) = 2x% =14
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Cadlewlabon  for Denominadors
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i |
6 =2 -
v il 9 =3
VO =27 %% 4
1 =7
LeM (2,%16,10) = 99%x5 -0 13 = 87
Hem(2,$,06,10) = 2 Lam (39,%1.2) = 37 = 1

HeF (,9,%4,23) = 3
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Lem (39, 9,23)  §1
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We thave, A+ Led 2= -5 +33 1
- T 1
I B D)
(1+ﬁi>(1+\l’5[) :
= ‘ - : -
Q‘bﬁ") (a-¥2) V=ia3g 2 .__4_:._4.
- Azl * modulos of z =1
-2 +9y31 Aind Hﬂ%umen-t of 2
= ﬂ_+3 8 :_n' _..—-—k_oq-{—"" f%
~ z(—l*ﬁi) Y

L e e e e PPTfTITIITTITYRESSAL



Answert 10 Hhe question  wo L3 :

—— Lgct! Fagm

We Q(\O\VO—J \]—\6 Xm
=N16 L xyq U

= 41 x 21

Arowere to +he queshon No ()

we have | . 241

' o
K 6?—'?21 %(24‘1) #U"H)
=648l — Q4+qi+(2)
< 6431 -4 — 4111




Modwlus » = m

=\ 195

1 4
6 - tun 5

=13 102

Prowerc 4o the question NO (’l@i

Lk, 2- 1+
T= X0y
12l = [t
8 = o |5
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